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EEGE 100064210504259 012 KIBER £R8% 70 79 118 114 381
EEGE 100064210506833 012 KIBER Ex=F 69 82 125 105 381
EEGE 100064210506522 012 KIBER E4=F 69 76 109 126 380
EEGF 100064210501574 012 KIBER Ex=F ] 63 83 118 116 380
EEGE 100064210504584 012 KIBER £R8% 67 73 123 116 379
EEGE 100064210506154 012 KIBER £R8% 66 77 121 115 379
EEGE 100064210506576 012 KIBER £R8% 67 75 130 107 379
EEGE 100064210503281 012 KIBER £R8% 69 70 116 123 378
EEGE 100064210506323 012 KIBER £R8% 63 76 111 127 377
EEGE 100064210506947 012 KBER £R8% 64 81 121 110 376
EEGF 100064210103445 012 KIBER £R8% 66 81 120 109 376
EEGE 100064210103456 012 KIBER £R8% 74 74 116 111 375
EEGE 100064210103479 012 KBER £R8% 73 76 118 108 375
EEGE 100064210504585 012 KIBER 8% 63 66 116 128 373
EEGE 100064210506747 012 KIBER 8% 66 74 119 114 373
EEGE 100064210500452 012 KBER 8% 67 83 116 107 373
EEGE 100064210103461 012 KIBER 8% 73 80 117 103 373
EEGE 100064210507064 012 KIBER 8% 65 73 121 113 372
EEGE 100064210103480 012 KIBER 8% 71 78 120 103 372
e 100064210507511 012 KIBER 8% 61 86 127 98 372
EEGE 100064210505491 012 KIBER 8% 72 75 104 120 371
EEGE 100064210504103 012 KIBER 8% 69 80 114 108 371
EEGE 100064210503954 012 KIBER 8% 63 78 114 114 369
EEGE 100064210506153 012 KIBER 8% 69 83 103 114 369
EEGE 100064210503398 012 KIBER 8% 67 81 116 105 369
EEGE 100064210503278 012 KIBER 8% 62 73 114 119 368
EEGE 100064210507755 012 KIBER 8% 73 70 110 115 368
EEGE 100064210507066 012 KIBER 8% 55 85 114 114 368
2EG % 100064210500703 012 FIEEE £R8% 70 78 115 105 368
£EGE 100064210103472 012 KIBER A=k 73 75 107 112 367
EEGE 100064210103492 012 KIBER A=k 58 87 123 99 367
£EGE 100064210507407 012 KIBER £R8% 67 66 109 124 366
£EGE 100064210103455 012 KIBER A=k 73 68 110 115 366
EEGE 100064210507754 012 KIBER A=k 73 67 115 111 366
£EGE 100064210507057 012 KIBER £R8% 66 71 119 110 366
EEGE 100064210506909 012 KIBER A=k 72 65 122 107 366
EEGE 100064210506962 012 KIBER A=k 70 78 114 104 366
£EGE 100064210502810 012 KIBER A=k 69 78 118 101 366
EEGE 100064210506745 012 KIBER A=k 57 73 120 115 365
£EG*x 100064210507214 012 KIBER EA=E 72 80 99 114 365
£EGE 100064210504997 012 KIBER A=k 65 80 121 99 365
B % 100064210506184 012 REER E£A%| 69 86 121 130 406
EEG*x 100064210503213 012 REER E£A%| 62 79 116 109 366




